Tableaux des Puissances de Dix (C)

Divisez le nombre de la rangée par celui de la colonne.
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Tableaux des Puissances de Dix (C) Solutions

Divisez le nombre de la rangée par celui de la colonne.

+ 1000 10 10 000 100
86 0,086 8,6 0,0086 0,86
40 0,04 4 0,004 0,4
67 0,067 6,7 0,0067 0,67
98 0,098 9,8 0,0098 0,98
92 0,092 9,2 0,0092 0,92
+ 100 1000 10 000 10
58 0,58 0,058 0,0058 5,8
17 0,17 0,017 0,0017 1,7
4 0,04 0,004 0,0004 0,4
91 0,91 0,091 0,0091 9,1
89 0,89 0,089 0,0089 8,9
+ 10 1000 100 10 000
36 3,6 0,036 0,36 0,0036
84 8,4 0,084 0,84 0,0084
93 9,3 0,093 0,93 0,0093
15 1,5 0,015 0,15 0,0015
9 0,9 0,009 0,09 0,0009
+ 10 000 10 1 000 100
45 0,0045 4,5 0,045 0,45
59 0,0059 5,9 0,059 0,59
71 0,0071 7,1 0,071 0,71
7 0,0007 0,7 0,007 0,07
4 0,0004 0,4 0,004 0,04
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